This report:

% MINI: (Type-subtype and calculation errors %
checkReport3("http://accounting.auditchain.finance/reporting-scheme/mini/testing5/instance.xml",
['http://accounting.auditchain.finance/reporting-scheme/mini/type-subtype2/type-subtype2.xsd'], [cacheValidity(3600)],Result).

http://accounting.auditchain.finance/reporting-scheme/mini/testing5/instance.xml 
https://pacioli.auditchain.finance/reportAnalysis/bc5df189900e184a320845c4c106ee3772196f9a.report/index.html 

In this test I removed the total for Noncurrent Assets. How would you derive the value for Noncurrent Assets if it was not reported?
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This representation throws an error resulting from non-permissible association between Property Plant and Equipment and Assets.
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But, this issues is fixed with Test6 which adds an anchor to represent this permissible association.
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